
 

   و ا��
ق ا�����ع: ا���اد ا���
	� ا������ 
  

 �	
  :أ��� �
 ���  / 1ا���

 (-11) + (-97)    ;;    (-39) + (-45,2)    ;;   (-7,3) + (-1,72)       ;;     35 + 4,6  

(-114) + 77   ;;  (-7,8) + 12,6  ; ;   6,5 + (-5,9)   ;   0,43 + (-1,2)    ;;    (–13) + (+13)    

(–2) + (+6)  ;;  (–2) + (+3)   ;;  (+7) + (–5)   ;;  (–9) + (+5)   ;;  (–11) + (+7)   ;;    

(+17) + (–13)   ;;  (+10) + (–14)   ;;  (–4) + (+17)   ;;   (+100) + (–24)   ;;  (+57) + (–78) 

(–48) + (+15)   ;;   (+10,7) + (–1,4)   ;;  (+21,65) + (–7,42)   ;;  (–4,3) + (+13,5)   

(–6,8) + (+9,27)  ;;   (+4) + (–8)   ;;  (+17) + (–9)   ;;  (+9) + (+5)  ;;  (–7) + (–6)  

(–27) + (+6)   ;;  (+41) + (–58)   ;;   (–24) + (–8)   ;;  (+3,8) + (+3,5)   ;;  (–5,7) + (+9,1)  

  
 �	
� ا��
���  / 2ا�����
�  : أ��� ا��

A=(-39)+(-12)+39+(+12)+(-9)              

B=11+(-71)+11+(-29)+89+(-11)    

C=2+15,3+(-11,7)+(-15,3)+11,7 

 D=22+(-391)+235+391+(-235)+(-12)              

  
  ا��
ق : ا���اد ا���
	� ا������ 

  
 �	
  :أ��� �
 ��� /  3ا���

 (-9)-(-39) ; 25-18 ; 18-25 ; (-44)-(-17)   

(-87)-96 ; 122-(-122) ; (-122)-122 ; 36,7-(-50)                            
  

 �	
  :'� آ& �
�� �% ا�$
#ت ا��
���  Xأو��  ���  / 4ا���
X-16=-22,5  X+48=64,5 -(81,6)+X= -81,6 

  
 �	
  ا���"!�  ا���
	�: ا������ ا���اد ا���

  
 �	
  : أ��� �
 ��� / 5ا���

B=(-28,8)+55-(-28,8)-35+(-20) A=-6+21-(-9)+(-11)-13+4 

D=-9-16-(-26)+(-32)-4,5 C=54-76+24-19+35 

F=(3976-289,6)-(-300,6+3976)  E=1475-(-97+1475)+(-97) 

 G=134-[(-62+46)-(-17+64-123)]-286 

  
 �	
� ا��
���  / 6ا�����
�  :(�) ا��

A=25-a-46+3a+27-a  B=-a+12-b-8+a+b-14+a-b-18 

C=58-(86-a)+(a-62) D=(a-37,5+b-19,6)-(a+26+b-17) 
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�	

���رب 
�- ا�$�
ب ا��ه*� /7ا���) / :  

 11 + ( – 13 ) =   – 16 + 18 =   1 – ( – 5 ) = 

– 14 + ( – 14 ) =   – 11 − 1 =  – 3 – ( – 19 ) = 

– 18 + ( + 11 ) =    7 – 10 =  − 14 + ( + 12 ) = 

 17 + ( − 11 ) =   – 11 + 2 =  – 12 – ( – 17 ) = 

 0 + ( − 14 ) =   – 4 + 16 =   15 – ( – 14 ) = 

                        

 13 + ( – 1 ) =   – 3 + 11 =  – 15 + ( + 2 ) = 

– 2 + ( – 11 ) =   – 17 – 12 =   15 – ( + 3 ) = 

– 12 + ( + 17 ) =    5 + 12 =   1 + ( – 4 ) = 

 19 + ( – 8 ) =    13 – 9 =  − 3 + ( – 5 ) = 

 16 + ( + 17 ) =   − 19 + 8 =   2 – ( – 17 ) = 

                        

– 2 + ( – 15 ) =   − 18 + 18 =   19 + ( + 5 ) = 

– 19 + ( – 16 ) =   – 13 + 19 =   1 – ( – 1 ) = 

 4 + ( − 14 ) =    9 – 5 =  – 13 – (  0 ) = 

− 7 + ( + 19 ) =    0 – 12 =  – 6 – ( + 12 ) = 

– 13 + ( + 8 ) =    2 – 6 =  – 2 + ( – 19 ) = 

                        

– 18 + ( – 16 ) =   – 10 + 2 =  – 13 – ( + 12 ) = 

– 18 + ( + 2 ) =   – 14 + 2 =   15 + ( – 3 ) = 

 8 + ( + 3 ) =    13 – 19 =   14 – ( + 14 ) = 

 9 + ( – 3 ) =   – 4 – 18 =   0 – ( + 17 ) = 

– 16 + ( + 11 ) =    17 – 7 =  – 15 – ( – 6 ) = 
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